ChessBase 10 Ausdruck, Husi , 28.05.2015
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1.Da7

[ 1.Tadl Dxc2 2.Txd4 0-0! 3.Tfl

Scbh7 4.Dxa6 Dxb2 5.Tg4+ Kh8 ]
1..Tf8!

[ 1...0-0? 2.Dxc5 Txf2 3.Khl Txg2

4.Tgl!]
2.Tf1

[ 2.Dxc5 Txf2 3.Khl Txg2 ]
2..Db4 3.Tadl

[ 3.a3 Dc4 4.b3 Dd5]

[ 3.Dxc7 Tf7 4.Dc8 (4.Dd6 Td7

5.Db6 Tbh7=)4...Sed4 5.Dxa6 Dxb2

6.Tabl Dxc2 7.Dxb5+ Td7 8.a4

Sc3 9.Tb2 De4 10.Dc4 Dxe5 |
3...Tf7 4.a3 Dc4 5.b4 Sd7 6.Txd4
Dc6 7.f4 Db6 8.Dxb6 Sxb6 9.Tf3
Sc6 10.Te4 Sc4 11.Th3 Se7 12.Th6
Sg6 13.g3 Sxa3 14.h4?

[ 14.c3 Sbl 15.Te3 Kf8]
14...Sxc2 15.h5 Sf8 16.Kf2 c5!
17.bxc5 b4 18.Ke2 b3 19.Kd2 Tb7
20.c6 b2! 21.cxb7 blD 22.b8D+

Dxb8 23.Kxc2
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